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HET—T ¢ 150 m 181.3 216.860 X 836 100 = 181.295
FILZ THEEE YR Hk AR NS
HEREH—H W=150 2{& m | 2142 216.840 —  1.300 0930 — 0420 = 214.190
TERLE T HARR MK
ERRT— W=50 m | 215.1 216.860 — 0.700 1020 — = 215.140
s
H=0.70
¢ 250
OIS A%E CHIERTH " 3 3 = 3
Tt ¢ 250
LY UiR'9gR FHEH H=50 1& 3 3 = 3
Tt ¢ 250
LY UiR'9gR L& H=150 1& 3 3 = 3
Tt ¢ 250
LY UR'9gR EEB(AF) H=40 | & 3 3 = 3




HPPE ¢ 1 50mmEcKE

BT BEHES

& fE - 0% HPPE ¢ 150mm; L=203.250(203.240)+11.710(11.700)+1.900=216.860(216.840)m

ek BERER e S&Y L #Y :0.60m~0.70m NO. 1
E 4 R
T/ £ & BT E Hy 5 & H =
FE (4ET)
A T MK
RUIFLUERMGT ¢ 150 m 215.1/216.860 — 1.300 0.420 = 215.140
(O#%F) BEE 45 A11° EF770Y"
EFf#tF T ¢ 150 &l 61 36 + 1 4 + 2+
45° W2 MR-
7 x 2 1 2+ 1 x = 61
a#F) Yk
EFftF T ¢ 150 [Elzi 2 2 + = 2
EF755%° 739Y
ISUCHET ¢ 150 m| 3 2+ 1 = 3
MERELY
RUIFLUEYRT ¢ 150 a 13 13 = 13
s
BEREUIM T ¢ 150 m| 1 1 = 1
RYTFLUE pcJ =hg
ANZHIMFT ¢ 150 m| 2 1+ 1 = 2
HHRE L5273 PcJ
ANZHIMFT ¢ 150 m| 1 1 = 1
HHER
THKERT ¢150x ¢ 150 | fHFAR 1 1 = 1
HOHFHRET ¢ 150 #® 2 2 HY# = 2
#ET—7
BEIRENER)-THEL ¢ 150 m | 2863 E#MELY = 286.255
FILE
HEREH—H W=150 2% m | 2142 EMHEKY = 214.190
BKE
EKHBRT BISR E g m | 216.9/216.860 = 216.860
ERRT— W=50 m | 2151 E#ME LY = 215.140
ey
H=0.70
¢ 250
HUFASKESREMAT CHIBERTUR 54 3 3 = 3
Tt ¢ 250
LY Uk IR BT FHEH H=50 1& 3 3 = 3
Tt ¢ 250
LY Uk IR E T L& H=150 1& 3 3 = 3
Tt ¢ 250
VYUK yIAMER T EEB(AF) H=40 | & 3 3 = 3
[+T]
HPPE ¢ 150
EEIETO-1 TEHEEI070 | m | 2164 2033 + 117 1.4 = 2164
WK IETEE
EEHLT® TEEEJ=070 | m 1.0 1.0 = 10




B = i
No. 1 NO.T £T(@-1 [ NO.4 EtI@®
150mmHPPEEEK & 216.4 =R L 1.0 =EEL SEEL SEE L SEEL SEE L SEEL CER L
SEEL SEEL SEEL SEEL SEEL SEEL EEL “EREL
& f 7 i % & F BEERE

AsEhZERR 2.00 432. 80 2.00 2.00 ( 434.80 ) ( 430 )

SHEYIMRT t=15emAF m
Coni%Ehi ( )¢ )

SHEYIMRT t=15emAF m
AsEhZERR 0.60 129. 84 0.70 0.70 (130.54 )| ( 131)

SHERRBEEE T [t=10cmlAF m2
Coni%Ehi ( )¢ )

SHEERRBERE T [t=15cmlATF m2
BHO. 13m3 0.50 108. 20 0.82 0.82 (109.02 )| ( 110 )

HEERYE T MEt m3
BHO. 13m3 0.20 43.28 0.48 0.48 ( 43.76 )| ( 40 )

HHIERT AL m3
BHO. 13m3 0.15 32.46 0.18 0.18 ( 32.64)( 30)

HHIERT HE+ m3
(RC-30) 0. 60 129. 84 0.70 0.70 (130.54 )| ( 131)

TRERET t=10cm m2
(RM=30) 0. 60 129. 84 0.70 0.70 (130.54 )| ( 131)

LERET t=12cm m2
(RM-30) ( ) ¢ )

LERET t=22cm m2
BEZH As13mm 0. 60 129. 84 0.70 0.70 (130.54 )| ( 131)

ERE{REIH t=3cm m2
BRIuonT 0.33 .41 0.62 0. 62 (72.03)( 70)

(£8) 2tDT m3
BRIuonT 0.03 6.49 0.07 0.07 ( 6.56 )| ( 10)

(AS) 2tDT m3
BilsT ( ) ¢ )

(Con) 20T m3
Z2AE 0.07 15.15 0.16 0.16 ( 15.31)( 15.3)

ASH% t
ZAE ( ) ¢ )

Con& t
0. 60 129. 84 0.70 0.70 (130.54 )| ( )
ERE{RE IR s s m2 ( i+ ;

& EECon m2




T I % E % E #
No.1-1
Wk 5E = (D-1 HPPE$ 150 L= 216.4 m
Brigr#i 7 = il #aE,d=0.70
R = 0180 X 0180 X 1 / = 0.025
= X T / =
Im2%0
% B i & Z o #o= g =
BT
AsBFIERK t=15cmll 1.00 X 2 = m 2.00
BULEIR A L
AsBELEIR t=10cmbl T 1.00 X 0.60 = m2 0.60
AT, BHO.13m3
- DB - - B - 1.00 X 0.60 X( 0.88 — 0.05 )= m3 0.50
HIEE 1. BHO.13m3
B NG A A 1.00 X ( 0.60 X 0.38 — 0.025)= m3 0.20
HIEE 1. BHO.13m3
B NG FEAE A 1.00 X 0.60 X 0.25 = m3 0.15
TIESHE T (RC-530)
t=10cm 1.00 X 0.60 = m2 0.60
_F/EEAE T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BEITIRTEIH (FFAEEEHLAS 1 3mm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
FEL A T 2tDT malt+  WHEt
FEAS 16 0.50 —( 0.15 = 0.90 )= m3 0.33
FEL T 2tDT
FEAS FAT7NIEE 1.00 X 0.60 X 0.05 = m3 0.03
YN
TR 7/ bk 0.03 X 235 = ¢ 0.07




T I % E % E #
No, 1-2
Wik AE = @ DIPp150 L= 1.0 m (FEAMETFE)
Brigr#i 7 = il #aE,d=0.70
EHE = 0170 X 0170 X o / 4 = 0.023
B BB = X X =z / 4 =
Im2%0
% B i & Z o #o= g =
BT
AsBFIERK t=15cmll 1.00 X 2 = m 2.00
BULEIR A L
AsBELEIR t=10cmbl T 1.00 X 0.70 = m2 0.70
AT, BHO.13m3
- DB - - B - 1.00 X 0.70 X ( 1.22 — 0.05 )= m3 0.82
HIEE 1. BHO.13m3
B NG A A 1.00 X ( 0.70 X 0.72 — 0.023)= m3 0.48
HIEE 1. BHO.13m3
B NG FEAE A 1.00 X 0.70 X 0.25 = m3 0.18
TIESHE T (RC-530)
t=10cm 1.00 X 0.70 = m2 0.70
_F/EEAE T (RM-30)
t=12cm 1.00 X 0.70 = m2 0.70
BEITIRTEIH (FFAEEEHLAS 1 3mm, A 77)
t=3cm 1.00 X 0.70 = m2 0.70
FEL A T 2tDT malt+  WHEt
TR 1% 0.82 —( 0.18 = 0.90 )= m3 0.62
FEL T 2tDT
FEAS FAT7NIEE 1.00 X 0.70 X 0.10 = m3 0.07
YN
TAT 7N EE 0.07 X 235 = ¢ 0.16




[E#E - ’2=L] HPPE

EE¢150 UIERE

No. 1
TRE =T A I/ NVE ST E )% = 0.45m CHE = 0.3b6m
B E o g ) 3 B A
18 =i b5 B b W ot
B R B OX[HE OBR(E X Bk B OE[EE BR B OS|ES OB E & Z
1 1. 620 0.7401 3 2. 060 4. 420 0. 580 3
2 1. 000 2.870 3. 870 1.130 2
8 1. 100 2.100| 12 1. 000 4. 200 0. 800 3
13 0. 730 1. 700 10 1. 900 4. 330 0.670 3
11 4. 440 4. 440 0. 560 1
6 4. 950 4. 950 0. 050 1
& [E% [HPPE ¢ 150] L = 5,000 6 A 26.210[ 3.790 13




DIP-GX ¢ 150mmEckEfER T HBFEE

Ml BsEiR e &Y 1Y :0.60m NO, 2
& M R
I/ £ _# BRTE ) % 8 BEHE E _Z
SEE-NEHMAEE
H#H | GXF FosMNEESBE ¢ 150 % 5,000 & 5.000 5000 X =
SEE-NEMAEE
GXFZ 393Nk E ¢ 150 % 5,000 X 1 Bt EVIERLY = 2431 =R
1FEE - NEIMARE BHE
GXHtZ FhaMNEEexE ¢ 150 X 5,000 PN 1 TIBYEYERLY = 3000 coTigsi
GX#!
EEIERAFNTEE $150% ¢ 75 1& 1] 0530 0530 X 1 = 0530
GX#ts 74+ ¢ 150 & 1] 0.039 0039 X 1 = 0.039
GXTE8 954 VRYIE 1=yl | SUS304BN-T AR & T PER
G—Link ¢ 150 # 1 1 = 1
SUS304BN - 1" Ll - 1Rk 'RER0 G-Link
GXE EREREALS 150 #H 1 - 1 =
PCYafArbk ¢ 150 {& 2 2 = 2
¢ 25-Z7%
EREBERATERA ANEPRA-75K | H 1 1 = 1
¢ 75-H150-7.5K- iz 22
F-NEEIES FCD | RSMEIA-LV-K | H 1 1 = 1
@ 75-FAMH Rryb
750V B F SUS304BN-7.5K = #f 1 1 = 1 ERF
¢ 75-GFe " Airyh
750V B F SUS304BN-7.5K = #f 1 1 = 1 ERF
¢ 500
ERFANKE Af35 " 1 1 = 1
EXRFA ¢ 500
Ly uik'yhR L& H=200 & 1 1 = 1
EXRFA ¢ 500
Ly uik'yhR TE H=200 & 1 1 = 1
EXRFA ¢ 500
Ly uik'yhR JEER (FfZ) H=40 {& 1 1 = 1
BEEER = 6.000
HERER 6000 - 1800 = 4.200
A-TR BN EER
FYIFLYAY-7 ¢ 150 m 55 4200 x {60 x (1 4+ 01) = 501 = 5544
100m%Y
#ET-7 ¢ 150 m 4 4200 x 836 + 100 = 3511
TEER ERF FTHIER
HERAZHE —b W=150 2{& m 3.7 6000 — 0530 — 1.800 = 3.670




DIP-GX ¢ 150mmEckEfER T HBFEE

A R S RT3 :0.60m NO., 2
& M R
I/ £ _# BRTE ) % & E _Z
FH (EHT)
HHERAEMT HEHGXE ¢ 150 m 6.0 6.000 = 6.000
EEES BE
GXE! #MFT ¢ 150 =] 2 2 = 2
EREES G-Link
GXE! #MFT ¢ 150 =] 1 — 1 =
BEREG-LinkiEa
GXE #MFT ¢ 150 =] 1 1 = 1
ERLY
H%E UT ¢ 150 a 3 2+ 1 = 3
BET B b & S E
BHENERE FYILAUBIEEEE | m2 3 250 x 2 x ;X 0169 = 27
ERARET 25 = 1 1 = 1
ISV MFT ¢ 75 =] 1 1 = 1
RUIFLUE PCJ
AN=—HIBFT ¢ 150 [m] 2 2 = 2
H%E LE253 PCJ
AN=—HIBFT ¢ 150 [m] 2 2 = 2
@500
ERARABEEMGT Af3E (&7 1 1 = 1
EXRFA @500
LY VR yIAB T E# H=200 e 1 1 = 1
EXRFA @500
LY URYIAER T TE& H=200 & 1 1 = 1
EXRFA @500
LY URyIAER T EE(MAR) H=40 | @A 1 1 = 1
HET-T
RUIFLYRY-THEBET ¢ 150 m 42 EMHE KLY = 4.200
BEEHE— W=150 2% m 3.7 EME LY = 3670
EKEHERT BEE% BT m 6.0 6.000 = 6.000
[£T]
DIP-GX ¢ 150

EElETD-3 TEHEE =060 @ m 4.2 21 + 21 = 42




¥ = ElE 3
No. 2 NO. 1 TIT®-3 NO. 2
150mmDIPEZ K & 4.2 =EEL SEE L SEE L SEE L SEE L SEE L SEE L SEE L
SER L SER L SER L SR L SR L SR L SHEER L SR L
& i iR % & it | BEEE

AsEhZEhR 2.00 8.40 8.40) 8)

I T t=15cmAF m
AsERZEhR 0. 60 2.52 2.52) 3)

SHERRIEFR T |t=10cmA T m2
BHO. 13m3 0.43 1.81 1.81) 2)

HEARPRIE T Myt m3
BHO. 13m3 0.20 0.84 0.84) 1)

HIERT BAL m3
BHO. 13m3 0.09 0.38 0.38) 0.4)

HIERT FEL m3
(RC-30) 0. 60 2.52 2.52) 3)

TrERET t=10cm m2
(RC-40) ) )

TrERET t=15cm m2
(RM-30) 0. 60 2.52 2.52) 3)

LB T t=12cm m2
(RM-30) ) )

LB T t=17cm m2
BAEFH As13mm 0. 60 2.52 2.52) 3)

ERE{RTE IR t=3cm m2
BRitunT 0.33 1.39 1.39) 1)

(£#) 2tDT m3
RitunT 0.03 0.13 0.13) 0.1)

(AS) 2tDT m3
ZAE 0.07 0.29 0.29) 0.3)

AS5% t
0. 60 2.52 2.52) )

R 818 B EE m2




T I H E F B £
No,2-1
Wrim#&s = (@-3 DIP$150 L= 4.2 m
Brigr& B = 18 #aE,d=0.60
R = 0170 X 0170 X x / = 0.023
BEEE = X X / =
Im2%40
% B g H =H o & g =
AELEL T
AsBHRERR t=15cmbL T 1.00 X 2 = m 2.00
BRI T
AsBHRERR t=10cmbL T 1.00 X 0.60 = m2 0.60
i 1. BHO. 13m3
Wb I A - BEET - 1.00 X 0.60 X( 0.77 — 0.05 )= m3 0.43
HET BHO.13m3
L NFERD A A 1.00 X( 0.60 X 0.37 — 0.023)= m3 0.20
HET BHO.13m3
LG FA A 1.00 X 0.60 X 0.15 = m3 0.09
FEEAET (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
_L/EBSAE T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
FBEIETIRE H (P4 A s 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
LG T 2tDT A+ wmAE
AL | 0.43 —( 0.09 = 0.90 )= m3 0.33
FEL T 2tDT
AL TR 1.00 X 0.60 X 0.05 = m3 0.03
N
TR 7/ 0.03 X 2.35 = ¢ 0.07




[E# - i2xX] DIP-GX¢ 150 (SFEE) UIERE
No. 2
A - B/ NS s Y = 0.68m ZHE = 0.7Tm
Fog % 0 b # S

1S ; : &t 7% gﬁ% ) B | G-Link iﬁ%

e R B E|F ST OBRE | F5 | BR (E S|FEES BR(E S|EEF BR E & I & =
HHEE 1 0.931] (1) | i | (1. 200) 1 1.500| 2.431] 2.569 2
& ? EE EH & B, Sk L=5000 1 Xk 2.431) 2.569 2




[E7 - #xX] DIP-GX¢150 (1FEE) tIERE
No. 2
A - B/ NS s Y% = 0.68m ZHE = 0.7Tm
I Z b %
7S ; ; ot 7% ﬁ% :j? ) B | G-Link iﬁ %
FE IR B OX|EE BRE X FF O BR E S|EE BR (R S|FE BR B S I & =
THEE[ A 3. 000 3.000| 2.000 1 1
& ? EE EH & B, Sk L=5000 1 Xk 3.000 2.000 ! !




VL P ¢50mmERKERRT HEFTES

Er &t BE e e LY T 4#Y :0.70m NO, 3
F 1w A
I/ £ & BT ZE Hy % 2| B4k B Z
HH EIEEZLSI=U T RE ¢ 50 % 4,000 X 4,000 4000 X =
BIEEZLSI= T RE ¢ 50 x 4,000 7 1 PERELY = 2100 IR
BIEZLSI= T TR ¢ 50 & 6 6 = 6
BILE=LSA=2 5 T4 ¢ 50 & 1 1 = 1
BIE=LSI=2 T =y T ¢ 50 & 2 2 = 2
FCD&I5oY $75x $50-10K | & 1 1 = 1
0.24%1
£ (3L @75 = 1 1 = 1 =0.24
GFE!-SUS BN
750V MFEH $75 75K #H 1 1 = 1
¢ 75-RF-GF3EAK
750V FEH ATULAAN Rfyb | 48 1 1 = 1
0.28 X1
OFoodmEF—X) | ($150% ¢ 75) ®\ . (1) =0.28
BELER = 2100 (2.620)
FTHERIERE
IBEAES— W=150 2{% m 2.1 2320 — = 2080
¥ H=0.70
@250
TR A%E CRIBRTHK " 1 1 = 1
TtU#A ¢ 250
LY URYIA S H=100 & 1 1 = 1
Tto#A ¢ 250
LY URYIR LT H=150 & 1 1 = 1
TtU#A ¢ 250
LY URYIA EER (M) H=40 1@ 1 1 = 1




VL P ¢SOmmEKERIRT HEFTES

Er &t BE e e LY T 4#Y :0.70m NO, 3
F 1w A
I P BT ZE Hy u & B Z
FE [ET]
HHERAMST INOREATN G50 | m 2.1 2.100 2.100
PEREY
NOEEELIET ¢ 50 m] 4 4 4
PEREY
NOFEERCYT 50 m] 8 8 8
IR
MOBHAERLAHEST ¢ 50 m] 13 6 x 2 13
HYHSEET 675 = 1 1 1
75K
ISUUHET 675 m] 2 2 2
IREAES— W=150 2{% m 2.1 EMHEY 2.080
@250
TUFRASSREMAT C1ExCRK & 1 1 1
Tto#A ¢ 250
LY Uk IR ER T SHEH H=100 & 1 1 1
Tto#A ¢ 250
LY Uk IR ER T LT H=150 & 1 1 1
Tto#A ¢ 250
LY Uk IR ER T EER (M) H=40 1@ 1 1 1
a9 —hElEL HIFLZE P 80 Al 1 1 BRERKER 1
[£1]
50
EHLT® FOEEE, d=0.70m | m 2.3 23 + 2.3




B R %X H =
No. 3 NO. 1 +I6
50mm VLP HEKE 23 =EEL SEE L SEE L SEE L SEE L SEE L SEE L SEE L
SER L SER L SER L SR L SR L SR L SHEER L SR L
& i iR % & it | BEEE

AsEREE R 2.00 4.60 4.60 ) 5)

I T t=15cmAF m
CohiZEhR ) )

I T t=15cmAF m
AsERZEhR 0. 60 1.38 1.38) 1)

SHERRIERRT |t=10cmA T m2
CohiZEhR ) )

SRR T |t=15cmA T m2
BHO. 13m3 0.43 0.99 0.99) 1)

HEARPRYE T Myt m3
BHO. 13m3 0.15 0.35 0.35) 0.4)

HIERT BAL m3
BHO. 13m3 0.15 0.35 0.35) 0.4)

HIERT FEL m3
(RC-30) 0. 60 1.38 1.38) 1)

TrERET t=10cm m2
(RC-40) ) )

TrERET t=15cm m2
(RC-40) ) )

TrERET t=30cm m2
(RM-30) 0. 60 1.38 1.38) 1)

BT t=12cm m2
(RM-30) ) )

LB T t=17cm m2
BAEFH As13mm 0. 60 1.38 1.38) 1)

ERE{REIR t=3cm m2
BRitunT 0.26 0. 60 0.60) 1)

(£#) 2tDT m3
RitunT 0.03 0.07 0.07) 0.1)

(AS) 2tDT m3
BIanT ) )

(Co) 2tDT m3
ZAE 0.07 0.16 0.16) 0.2)

AS5% t
ZAE ) )

Coz¥ t
0. 60 1.38 1.38) )

R g8 B EE m2




T I H E F B £
No,3
Brigis = ®  VLPg50 L= 23 m
Brigr5 B = EFEEAs
R = X X z / —
EREE = 0060 X 0060 X x / = 0.003
Im?240
% B i H = o & g =
AELEL T
AsBHRERR t=15cmbL T 1.00 X 2 = m 2.00
AR T
AsBERERR t=10cmbL T 1.00 X 0.60 = m2 0.60
Se#i 1. BHO. 13m3
W BT A - EEET - 1.00 X 0.60 X( 0.76 — 0.05 )= m3 0.43
HET BHO.13m3
L NFERD A A 1.00 X ( 0.60 X 0.26 — 0.003)= m3 0.15
HET BHO.13m3
L NFED FA A 1.00 X 0.60 X 0.25 = m3 0.15
TIEEAET (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
_L/EBSAE T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
FBEIETIRE H (A A s 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
FEL AT 2(DT A+ wmAE
BAL | 0.43 —( 0.15 = 0.90 )= m3 0.26
FEL T 2tDT
AL TR 1.00 X 0.60 X 0.05 = m3 0.03
N
TR 7/ 0.03 X 2.35 = ¢ 0.07




[ - #xX] VLP@50 YIEHE
No. 3

B - BNVEE e = L8N -
Bog 4 b
13 &t | Tl | Gl
i IR kR O&|FS OBR Kk S[EY OBR B S|1EFS OBRK Kk S[FS OBKR (kB S
0. 300 0. 300 0. 500 1.000f 2.100( 1.900 8 4
& EE [ 0E, MR, AR L=400 1 * 2.100| 1.900| 8 | 4




fakERRT (PEP¢20 - PEP$25 - PEP$40) HREBFHEE

“PEP ¢ 20mm X 19/ PEP ¢ 25mm X 4E5FT PEP ¢ 40mm X 2 i

i BEReSEY T3 :0.60m~0.30m NO.
& M R
IiE - BRTE ) % & E _Z
8k FIIFLVER
H#H YR kg @150 X ¢ 20 # 19
FYIFLVE R
YRILIF KR b 150 % ¢ 25 ® 4
FYIFLVE R
YRI5 kg $ 150 x ¢ 40 = 2
¢ 20 ¢ 25
KRRy X FCD = /Rh&! & 23 19 + 4 = 23
¢ 250 ¢ 40
U AsE AR5 (FAER) " 2 2 = 2
T HA ¢ 250 40
LY UiR'y9R L TF# H=150 & 2 2 = 2
T HA ¢ 250 40
LY UiR'y9R EEB (M) H=40 | & 2 2 = 2




fakERRT (PEP¢20 - PEP$25 - PEP$40) HEBHESE

" PEP ¢ 20mm X 198 AT PEP ¢ 25mm x 4B/ PEP ¢ 40mm X 288 i

mEEEH BElReSkY 3 :0.60m~0.30m NO, 4
& M R
IiE £ _# BRTE ) % & E _Z
#aak
FH (EHT)
FYIFLUER
SKBRETGAAT b 150 X ¢ 20 AT 19
FYIFLUER
SKBRETGAAT b 150 % ¢ 25 (&7 4
FYIFLUER
RKBRETGAAT $150x $40  EEHFT 2
THE
MIH EERIEB > 4m
FRKEERT PEP ¢ 20 (&7 19 K EMRELR LY L=2.35m
MIH EERIEB > 4m
FRKEERT PEP ¢ 25 AT 4 " L=2.75m
MIH EERIEB > 4m
HKEERT PEP ¢ 40 BT 2 " L=3.3m
@ 250
tUIFASEREMAT AR5 (FAE%) | BT 2
T HA ¢ 250
LY VR yIAB T L TF# H=150 & 2
T HA ¢ 250
LY Uk A BT EEB(MA) H=40 | & 2
[£T]
$20-25
HKEHILETO HEEE m 482 482 = 482 H=0.60
®40

HKEHI LT HEEE m 6.0 6.0 = 60 H=0.60




T T & E £ M X
No. 4 NO. 1 TID 0.2 TIQ
PEP20-25 - 40mm#5 7k & 48.2 “ERE L 6.0 “EE L R L =R L | #REF! =R L | #REF! “ERE L R L “ERE L
“EE L “EE L “EE L SEEL SEEL SEE L SEE L “ERL
& i i i) i HEBE

AsEhZEhi 2.00 96. 40 2.00 12.00 ( 108.40 ) ( 110)

SEYERT t=15cmLL T m
Con&%Ehi ( )¢ )

SEYERT t=15cmLL T m
AsEhZEhR 0. 60 28.92 0. 60 3.60 ( 32.52)( 33)

SEERRAERE T |[t=10cmi m2
Con&%Ehi ( )¢ )

SEERRAERE T |[t=15cm T m2
BHO. 13m3 0.35 16. 87 0.36 2.16 ( 19.03)( 20)

Btk R YE T et m3
BHO. 13m3 0.14 6.75 0.15 0.90 ( 7.65 ) ( 10)

HEWIERT BAL m3
BHO. 13m3 0.09 4.34 0.09 0.54 ( 4.88 ) ( 5)

HEWIERT Eitaiun m3
(RC-30) 0. 60 28.92 0. 60 3.60 ( 32.52)( 33)

TrERET t=10cm m2
(RM-30) 0. 60 28.92 0. 60 3.60 ( 32.52)( 33)

FERAET t=12cm m2
(RM-30) ( )¢ )

FERAET t=22cm m2
BEZH As13mm 0. 60 28.92 0. 60 3.60 ( 32.52)( 33)

BRE{REIE t=3cm m2
RiuonT 0.25 12.05 0.26 1.56 ( 13.61)( 10)

(£#) 2tDT m3
“KtusT 0.03 1.45 0.03 0.18 ( 1.63)|( 2)

(AS) 2tDT m3
RitunT ( )¢ )

(CON) 2tDT m3
ZAE 0.07 3.37 0.07 0.42 ( 3.79)]( 3.8)

AS3R t
ZAE ( )¢ )

CON3% t
0. 60 28.92 0. 60 3.60 ( 32.52)( )
ERE{REIE TEHEE m2 ( 1 )

B EECon m2
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No.4—1
WA = @D  PEP$20-251L= 48.2 m
Brigr5 B = 8 #EE(d=0.60)
R = 0030 X 0030 X / = 0.001
BEEE = X X / =
Im2%40
% B g H =H o & g =
AELEL T
AsBHRERR t=15cmbL T 1.00 X 2 = m 2.00
BRI T
AsBHRERR t=10cmbL T 1.00 X 0.60 = m2 0.60
S I BHO. 15m3
Wb I A - BEET - 1.00 X 0.60 X(0.630 — 0.05 )= m3 0.35
e T BHO.13m3
LN TEA A 1.00 X ( 0.60 X 0.230 — 0.001)= m3 0.14
T BHO.13m3
LN FEAE A 1.00 X 0.60 X 0.150 = m3 0.09
FEEAET (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
_L/EBSAE T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
FBEIETIRE H (P4 A s 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
LG T 2tDT EI . WAL
FFAA 4 0.35 —( 0.09 =+ 0.90 )= m3 0.25
FELH T 2tDT
FFAS TAZ7 /PR 1.00 X 0.60 X 0.05 = m3 0.03
Z N
FRI 7 b 0.03 X 2.35 = ¢ 0.07
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WA = @ PEP$40 L= 6.0 m
Brigr5 B = 8 #EE(d=0.60)
R = 0050 X 0050 X x / = 0.002
BEEE = X X / =
Im?40
% B g H =H o & g =
AL T
AsEFIERR t=15ecmIL T 1.00 X 2 = m 2.00
BRI T
ASEFIERR t=10cmIL T 1.00 X 0.60 = m2 0.60
HefiE T BHO.15m3
LB - - FEE A 1.00 X 0.60 X(0.650 — 0.05 )= m3 0.36
HHEE 1. BHO.13m3
LGS HEA A 1.00 X ( 0.60 X 0.250 — 0.002)= m3 0.15
HHEE 1. BHO.13m3
S NFHIEYD T A- 1.00 X 0.60 X 0.150 = m3 0.09
TR T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
_L/EBSAE T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
FBEIETIRE H (P4 A s 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
LA T 2tDT JEEl L WA
JEARZ 1 0.36 —( 0.09 = 090 )= m3 0.26
FELH T 2tDT
JERZ TAT7/pR 1.00 X 0.60 X 0.05 = m3 0.03
Z N
TR/ 0.03 X 2.35 = ¢ 0.07
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I/ £ _# BRTE ) % & E _Z
223
H#H
HuRER Bt R o L 3 4+t
AAZHIL DAL RIE ¢ 150 & 2 2 = 2 BEERE
5E (#ET)
HRE L2273 &ig
ANZAIBFET ¢ 150 m| 2 2 = 2
BHERLEFEAL CIP ¢ 150 m | 209.2| 209.2 + = 2092
Bk ERE DT CIP ¢ 150 a 69 209.200 + 3.0m/EAT = 69
S M=vy
non & HEE 9150 t 6.638 (2721 + 452 )x 209.200 = 6,638 ke
[£T]
BEERE B E

BELTO BEEREL#Y1.00m | m | 206.7 206.7 206.7
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No. 6 NO. 1 +IQ
HREWE 206.7 =R L SEE L SEE L SEE L SEE L SEE L SEE L SEE L
SER L SER L SER L SR L SR L SR L SHEER L SR L
& i iR % & it | BEEE

AsEhZEhR 2.00 413. 40 ( 413.40) 410 )

I T t=15cmAF m
AsERZEhR 0. 60 124.02 (124.02) 124 )

SHERRIEFR T |t=10cmA T m2
BHO. 13m3 0.65 134. 36 (134.36) 130 )

HEARPRIE T Myt m3
BHO. 13m3 ( ) )

HIERT BAL m3
BHO. 13m3 0.55 113. 69 (113.69 ) 110)

HIERT FEL m3
(RC-30) 0. 60 124.02 (124.02) 124 )

TrERET t=10cm m2
(RC-40) ( ) )

TrERET t=15cm m2
(RM-30) 0. 60 124.02 (124.02) 124 )

LB T t=12cm m2
(RM-30) ( ) )

LB T t=17cm m2
BAEFH As13mm 0. 60 124.02 (124.02) 124 )

ERE{RTE IR t=3cm m2
BRitunT 0.04 8.27 ( 8.27) 10)

(£#) 2tDT m3
RitunT 0.03 6.20 ( 6.20) 10)

(AS) 2tDT m3
ZAE 0.07 14. 47 ( 14.47) 14.5)

AS5% t
0. 60 124.02 (124.02) )

R 818 B EE m2
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BEHEE = 0170 X 0170 X x / 4 = 0.023
EHEE = X X / —
Im?240
% B g H =H o & =
AELEL T
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AR T
AsBHRERR t=10cmbL T 1.00 X 0.60 = m2 0.60
i 1. BHO. 13m3
Wb BT A - EEET - 1.00 X 0.60 xX( 1.17 — 0.05 )- 0.023 m3 0.65
HET BHO.13m3
L NFERD A A X ( X — )= m3
HET BHO.13m3
L NFED FA A 1.00 X 0.60 X 0.92 = m3 0.55
FEEAET (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
_L/EBSAE T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
FBEIETIRE H (P4 A s 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
FEL AT 2(1DT A+ wmAE
AL | 0.65 —( 0.55 = 0.90 )= m3 0.04
FEL T 2tDT
AL TR 1.00 X 0.60 X 0.05 = m3 0.03
N
TR 7/ 0.03 X 2.35 = ¢ 0.07
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S [H DB 20.10 m + 7.40 m  + 3.00 m = 30.50m | m 30.5 31
A e L
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> = 290.1 nt
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—— B . . s AR
REERILE (Ash0) e 290.1 X 003 + 337.6 X 005 = 256 m3 m3 256 30
Az N3 95.6 X 2.35 t/m3 60.2 ¢ t 60. 2 60.2
+T el Bt El (&) HOEASREREE  290.1 X 0.02 + m3 5.8 10
FAE AL AR T m3 5.8 10
FE S N m3 5.8 10
MPEEAREIRT  |RMEEERIE OB G T - A e BOEERARIEANIE (Hmfd  627.7 + = 627.70 m | m2 627.7 628
2 () PRI QO) = Z0em | i s A 1 w | 62r.7 628
X T PETE, Ea W PATTE : BeFle 0 EW=15emfa | 5.5 X 3 4+ Ikvy 13.6  + At -} PEH 60.4 = m 90.5 91
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